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(1,890,000 %1 )-1,611,000¢)=
3. [ZIA A dukag] 11,100 4,500 6,600
1.2 ¥kE8n| 11,100 4,500 6,600 | A1 A AR FELSH] 1 300,000 #2F= 600,000
ZTFRSAN] 2,000,000 +33]= 6,000,000
4. [z]shg4 e 300 300 0
1. 99k=4n) 300 300 0
5.[%]1332 g 3,768 3,768 0
1. 9Hk=4n) 3,768 3,768 0
3.8 ey ¥ 3,120 3,120 0
1.3t -4 9 d 3 820 820 0
1.[z]gndHL3] 9 820 820 0
1.09H] 120 120 0
2. AR 5314 700 700 0
2.8t E e 2,300 2,300 0
1.[=]3HE R3] eY 2,300 2,300 0
1. Y9Hk=4n) 2,000 2,000 0
2. ARk T304 300 300 0
7.8 A F-&E 0 0 0
1. 1] H] 0 0 0
1.4H]H] 0 0 0
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20208H A = M=o AE AN

1. [Z]emm) 0 0 0
1.ofulH] 0 0 0
2. [Z]FALednH] 0 0 0
1.ofulH] 0 0 0
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